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QUESTION 1

A raw data file is listed below:
RANCH,1250,2,1,Sheppard Avenue,"$64,000"
SPLIT,1190,1,1,Rand Street,"$65,850"
CONDO,1400,2,1.5,Market Street,"80,050"
TWOSTORY,1810,4,3,Garris Street,"$107,250"
RANCH,1500,3,3,Kemble Avenue,"$86,650"
SPLIT,1615,4,3,West Drive,"94,450"
SPLIT,1305,3,1.5,Graham Avenue,"$73,650"

The following SAS program is submitted using the raw data file as input:
data work.condo_ranch;

infile \\'file-specification\\' dsd;

input style $ @;

if style = WCONDOW' or style = W'RANCH\\' then

input sqgfeet bedrooms baths street $ price : dollar10.;
run;

How many observations does the WORK.CONDO_RANCH data set contain?
A.0

B.3

C.5

D.7

Correct Answer: D

QUESTION 2

The following SAS program is submitted:
data work.test;

First = \V'Ipswich, England\\’;

City = substr(First,1,7);
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City_Country = City!"\\', WIIWEngland\\';

run;

Which one of the following is the value of the variable CITY_COUNTRY in the output data set?
A. Ipswich!!

B. Ipswich, England

C. Ipswich, \WVEngland\\

D. Ipswic h, England

Correct Answer: B

QUESTION 3
The following SAS program is submitted:
data work.accounting; set work.department; length jobcode $ 12; jobcode=\\'FAI\\'; run;

The WORK.DEPARTMENT data set contains a character variable named JOBCODE with a length of 5. What is the
result?

A. The length of the variable JOBCODE is 3.
B. The length of the variable JOBCODE is 5.
C. The length of the variable JOSBODE is 12.
D. The program fails to execute due to errors.

Correct Answer: B

QUESTION 4

Given the SAS data set WORK.ORDERS:

WORE  ORDERS

Order_id <Customer Ship_date
9341 Josh Martin 02FEB2009
9874 REachel Lord=s 14HARZ2009
10233 Takashi Sato 07JUL2009

Ship_date is a numeric variable containing a SAS data value. A programmer would like to create a new character
variable Ship_date-char that represents the ship date as a character string, such as "February 2,2009\\'

Which statement will create the new variable Ship_date_char as a character value with a format such as "February 2,
2009"?

A00-211 Practice Test | A00-211 Study Guide | AO0-211 Exam Questions 3/4


https://www.passapply.com/a00-211.html
https://www.passapply.com/a00-211.html
https://www.passapply.com/a00-211.html

VCE & PDF https://lwww.passapply.com/a00-211.html
2024 Latest passapply A00-211 PDF and VCE dumps Download
PassApply.com

A. Ship_date_char = input(Ship_date, date9.,worddate20.);
B. Ship_date_char = put(Ship_date, date9.,worddate20.);
C. Ship_date_char = input(Ship_date,worddate20.);

D. Ship_date_char = put(Ship_date,worddate20.);

Correct Answer: D

QUESTION 5

The following SAS DATA step is submitted:

libname temp \\'SAS-data-library\\’;

data temp.report;

set sasuser.houses;

newvar = price * 1.04;

run;

Which one of the following statements is true regarding the program above?

A. The program is reading from a temporary data set and writing to a temporary data set.
B. The program is reading from a temporary data set and writing to a permanent data set.
C. The program is reading from a permanent data set and writing to a temporary data set.
D. The program is reading from a permanent data set and writing to a permanent data set.

Correct Answer: D
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